913821 CUCINA CP66C40S FEM (PKM0189S) CARAD CE

POS PARTCODE| ORIGINAL DESCRIPTION DESCPRITION PCS
00010 072063 |FONDO CASSETTO 66 DRAWER BOTTOM 1
00013 505171 |SOTTOVITE SV 53(MONIA FIX)NERO ZINC BLACK ZINC-PL.UNDER-SCREW SV53 4
00013 505171 |SOTTOVITE SV 53(MONIA FIX)NERO ZINC BLACK ZINC-PL.UNDER-SCREW SV53 6
00023 072111 |RETRO ESTERNO CUCINA 66.04 COOKER OUTSIDE REAR WALL 1
00035 072036 | TETTOINO F.INC "32" HEAT DEFLECTOR 1
00044 112626 | CIELO FORNO ELET CUC 66(SC.VAP)NERO OVEN UPPER WALL -BLACK- 1
00045 112632 | CONTROPORTA CUC 66 X PANNELL -NERA- COOKER COUNTERDOOR -BLACK- 1
00047 112734 |FACCIATA CUC 66 TD (PUSH-PULL) NERA BLACK FACE 1
00048 112546 |[FIANCHETTO IMBUTITO F.INC "32" NERO OVEN DRAWN SIDE -BLACK- 2
00049 112548 |[FONDO FORNO INCASSO "32" -NERO- BUILT-IN OVEN BOTTOM -BLACK- 1
00050 112524 |LECCARDA FORNO INCASSO(FONDA)-NERA-  |OVEN DRIP-TRAY -BLACK- 1
00051 112067 | RETRO F.INCASSO MULTIF "CKD" -NERO- OVEN BACK SIDE -BLACK- 1
00055 271856 |FIANCO DX CUC 66 -INOX/SPAZZ- RIGHT SIDE -STAINLESS STEEL- 1
00055 271857 |FIANCO SX CUC 66 -INOX/SPAZZ- LEFT SIDE -STAINLESS STEEL- 1
00059 271840 |PORTIN CAS APR TD CUC 66-INOX/SPAZ- DRAWER DOOR -STAINLESS STEEL- 1
00073 371560 |DISTANZ MANIGL ALESSA 98 CUC 66 TD 2
00118 403466  MANOP PIAST ELETT 66(PUSH-PULL)NERA ELECTRIC PLATE KNOB -BLACK- 4
00123 401376  PIEDINO LIVELLATORE "M 60" (8X15) ADJUSTING LEG (8X15) 4
00125 403469 'ROSONE NEUTRO CUC 66(PUSH-PULL)NERO  COOKER COLLAR -BLACK- 6
00140 414284 | MANIGLIA POR 66 CHUNKY(LEGGERA)NERA 1
00165 431114 | CERNIERA PORTA X CUC 66 PANNELLATA DOOR HINGE 2
00173 505168 |MOLLETTA DOPPIA M5 (BUT 205) DOUBLE SPRING M5 (7105 B) 2
00177 451288 | GRIGLIA FILO F.I FIANCHI IMB(MODIF) OVEN WIRE GRID 2
00183 471073 |LANA VETRO CUC 66(FORNO ELET)BIANCA GLASS WOOL -WHITE- 1
00187 482020 ' COMMUT MULTIF 66(8FUNZ)41.41923.001 LIGHT/GRILL COMMUTATOR 1
00197 481160 |LAMPADA 220/240 V (15 W) MIGNON MIGNON LAMP 220/240 V (15W) 1
00201 481913 'MORSETT F.I "32"(COMBI)PA223/S+VITE OVEN TERMINAL BOARD 1
00209 481161 | PORTALAMPADA FORNO INCASSO(MAX 25W) |LAMP-HOLDER 154 NF 1
00233 101040 | PIASTRINO FERMA CORNICE COP MAGNUM COVER FRAME FIXING PLATE 2
00244 401566 | GUARNIZIONE PERIM P.I CER GAS OLMAR PERIMETRICAL GASKET 0,07
00266 414181 | TESTAT MAN "CHUNKY" DX 66-CROM/LUC- RIGHT LATERAL SUPPORT FOR HAND 1
00266 414182 | TESTAT MAN "CHUNKY" SX 66-CROM/LUC- LEFT LATERAL SUPPORT FOR HANDL 1
00290 653631 |GRUPPO DOP.VET+PIA F.I"32L"(TERMOV) DOUBLE GLASS+PLATE GROUP 1
00302 071996 |SOTTO-RESISTENZA F.INC "32" HEATING ELEMENT SUPPORT 1
00312 112723 |COPRIVENTILATORE CUC 66/F.1 32 NERO FAN COVER FOR COOKER -BLACK- 1
00317 072226 |SUPPORTO OROLOG DISPLAY CUC 66(MOD) 1
00326 481686 |RESIST VENTOLA F.I (230/240V-2100W) CIRCULAR HEATING ELEMENT 2100W 1
00329 521049 |MOTORINO VENTOLA F.INC (220/240V) FAN MOTOR FOR OVEN 1
00330 601267 |OROLOGIO DIGIT CON TEMP EL2000/251 DIGITAL CLOCK 1
00331 072061 |RETRO PORTA MOTORI CUCINA 66 REAR WALL FOR MOTORS SUPPORT 1
00337 482002 'RESISTENZA PLATEA CUC 66 (230/240V) LOWER HEATING ELEMENT 1
00338 482017 |RESIST CIELO/GRILL CUC 66(230/240V) UPPER/GRILL HEATING ELEMENT 1
00381 481960 <TERMOST F.I"32"VEN/MULT(TANG)TR/741 OVEN THERMOSTAT (COOLING SYSTE 1
00386 072238 |SUPPORTO SPIE C.R CUC 66 CERAM ETNA 1
00393 272123 |CRUS 66.04 FEM(OR.DIG/R.LUD)INOX/SP 1
00449 401520 | GHIERA COPRIFORO X CRUSC VETRO NERA  COVERING RING FOR FACIA-PANEL 1
00468 402299 'MANOP PROGRAM(EL145)-N- 07-0702-110 PROGRAMMER KNOB -BLACK- 3
00482 601152 |MOLLA FERMA SONDA F.I PNV 300 "REX" OVEN SAFETY DEV.LOCKING SPRING 2
00486 072064 |ZOCCOLO ANTERIORE CUC 66 FRONT SOCLE 1
00508 072067 | CONTROPORTA CASSETTO CUCINA 66 DRAWER COUNTERDOOR 1




913821 CUCINA CP66C40S FEM (PKM0189S) CARAD CE

POS PARTCODE| ORIGINAL DESCRIPTION DESCPRITION PCS
00535 371405 |CERNIERA CASSETTO"M 51"(RINFORZATA) DRAWER HINGE M51 2
00549 072096 |ANELLO SCARICO FUMI CUCINA 66 RING FOR SMOKE EXHAUST 1
00550 371515 |CONDOTTO SCARICO VAPORI CUCINA 66 STEAM EXHAUST TUBE 1
00606 481403 | THERMO SWITCH 10 AMPER THERMO SWITCH 10A 1
00614 601123 |INSERTO FIL M8 ACC(M8 FTT/C)"610080 THREADED RIVET M8 4
00614 601123 |INSERTO FIL M8 ACC(M8 FTT/C)"610080 THREADED RIVET M8 4
00614 601123 |INSERTO FIL M8 ACC(M8 FTT/C)"610080 THREADED RIVET M8 4
00632 601251 |CALAMITA CASSETTO 66 MAGNET FOR DRAWER 2
00662 401735 |GUARNIZ FORNO ELET CUC 66(PANN)COMP ELECTRIC B.I.OVEN RUBBER GASKE 1
00670 072197 |SUPPORTO COMMUTATORI 66 (PUSH-PULL) COMMUTATOR SUPPORT 1
00727 481762 |PROTEZ IN VETRO X LAMPADA F.I (15W) LAMP GLASS PROTECTION 1
00783 481593 |LACCIO FERMA CAVO"M 60"NF STRIP FOR WIRE LOCK 3
00785 654141 |GRU V POR NI66(M.CHU/P.TAR.CRO)IN/S DOOR GLASS GROUP -STAINLESS ST 1
00799 505138 |VITE BLOCCAGGIO COPRIVENTOLA F.INC FAN PROTECTION LOCKING SCREW 2
00811 481777 |SPIA LUMIN M60 GEY 275270050T(T150) WARNING LIGHT 2
00812 482056 < GEMMA ROSSA X SPIA CUC66 272999010T RED CAP FOR WARNING LIGHT 2729 1
00850 431113 |RULLINO X CERNIERA F.I[(ROND TEFLON) HINGE ROLLER 1
00850 431113 |RULLINO X CERNIERA F.I[(ROND TEFLON) HINGE ROLLER 1
00903 072114 |BARRA SOST POST PIASTR CERAM CUC 66 REAR SUPPORT FOR CERAMIC PLATE 1
00903 072073 |BARRA SOST ANT PIASTRE CERAM CUC 66 SUPPORTING BAR FOR CERAMIC PLA 1
00994 072267 |SOSTEGNO INF MUFFOLA DX F.I 32(MOD) 1
00999 493005 |TRIPLO VETRO CUC 66 RUSTICO/NIROSTA DOOR GLASS 1
01015 403467 'MAN FUN MULT(8FUN)66(PUSH-PULL)NERA MULTIFUNCTIONAL KNOB -BLACK- 1
01019 403468 MANOP TERM MULTIF 66(PUSH-PULL)NERA MULTIFUNCTIONAL KNOB -BLACK- 1
01031 403012 |GUARNIZ ADES X COND SCAR VAP F.1 32 ADHES.GASKET FOR STEAM EXHAUST 2
01031 403012 |GUARNIZ ADES X COND SCAR VAP F.1 32 ADHES.GASKET FOR STEAM EXHAUST 2
01049 072070 |ANGOLARI FISSAGGIO POST PIANO 66 ANGLES FOR HOB REAR FASTENING 2
01055 403049 | TIRANTE DI FINE-CORSA CASS APRIB 66 DRAWER TENSION BAR 2
01058 403082 |ALLINEATORE ANT DX/SX PIAN CERAM 66 FRONT R./L.ALIGNMENT FOR CERAM 2
01059 072089 |SQUADRET SOSTEGN TAMPONE PIA CER 66 SUPPORT FOR CERAMIC HOB 2
01059 072089 |SQUADRET SOSTEGN TAMPONE PIA CER 66 SUPPORT FOR CERAMIC HOB 2
01063 481977 | PIASTRA CERAMICA D.210 CUCINA 66 CERAMIC PLATE D.210 IRCA 1
01064 481978 | PIASTRA CERAMICA D.180 CUCINA 66 CERAMIC PLATE D.180 IRCA 1
01064 481978 | PIASTRA CERAMICA D.180 CUCINA 66 CERAMIC PLATE D.180 IRCA 1
01065 481979 | PIASTRA CERAMICA D.145 CUCINA 66 CERAMIC PLATE D.145 IRCA 1
01066 482019 |COMMUTAT 4BLOC CUC 66(41.44723.020) COMMUTATOR 1
01083 541374 |PERNO X FISSAGGIO PIASTRE CERAM 66 CLAMPING PIVOT FOR CERAMIC PLA 4
01083 541374 |PERNO X FISSAGGIO PIASTRE CERAM 66 CLAMPING PIVOT FOR CERAMIC PLA 4
01091 072122 |SUPPORTO INF.VETRO PANN PORTA 66 LOWER SUPPORT FOR DOOR PANEL G 2
01092 072115 |SQUADRETTO SUPPORTO PIASTR CERAM 66 |SUPPORT FOR CERAMIC PLATE 4
01092 072115 |SQUADRETTO SUPPORTO PIASTR CERAM 66 |SUPPORT FOR CERAMIC PLATE 4
01093 072123 |SQUADRETTO CENTRAGGIO PIANO 66.04 SUPPORT FOR HOB CENTERING 2
01099 471097 |LANA VET PROTEZ LAMP CUC 66 P.CERAM GLASS WOOL FOR LAMP PROTECTION 1
01104 482057 < GEMMA ARANC X SPIA CUC66 272999040T ORANGE WARNING LIGHT CAP 27299 1
01107 112702 | COPERTURA SQUADR INF DOP VET CUC 66 COVER FOR DOUBLE GLASS LOWER P 1
01111 072268 |SOSTEGNO INF MUFFOLA SX F.1 32(MOD) 1
01189 482139  BLOCCO 4-SPIE C.R(SS660A2)ISPRAFLEX 1




